EAGRAROBREERT — 2 N— ABISH —F

2020781980 (H) 4m#intE2H

Rz — v5%3m3007E

‘ [Riz] ¥ ‘ [RERBB] — | & (&) 15000 &

[A~&£] 17 :2,000,000  ~ 23 :800,000 37 :500,000H 43 :300,000" 5 3 :200,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
2 4 3 | HIIHE 1:36.3 1-1-1-1 | 40.3| — 6 449 | FEMIETS (fR4E)
1l 2| NITNT TR 54.0 > o) | () TABRL-=2Te s
L:O—-J X124 B:LIUTUZX boniuk e ]
. 43 | HEAE 1:36.6 5-5-6-6 |38.9| — 7 — | EHE (fafR)
2 12 A 2= e .0 (1172 o) |EIEZ
L:bIotw R BT A-HRX4 KA
N . SHEY . -0 — AR (f81E)
Y : NEASSLETF >3 | ZHR 1.(316>.8 2-2-2-2 | 40.7 1 ;1;&53) s
L2 pOSTUE—> BiH—ILNTIA Y- [H:kie
= . s 3 | HHEX 1:36.9 6-6-5-5 |39.2| — 4 434 | EHES (fatd)
41710/ 772771> 54.0 (7€) 2) BRFEL
LHALYRFr = B:I5T42F1F AR
K . _ 4 3 | AEEE 1:37.1 4-4-3-3 |40.8| — 2 482 | NIBE— (fa48)
5|5|5|¥av T2 56.0 (1 1/2) g | EEEZ "
A= 770> BEF4ENLTHED BII77—L4A
5 4 3 | RES 1:37.2 10-10-10-9 | 39.0 | — 3 444 | KBES (#018)
el NEs/H—0 54.0 () (3 |EAIE
L:7—9T74—ZX B:d—ILKRTrL— TREF S
. N E- 3 . 77 - # u\m
7 7 FYy—RKR53> >3 gg.AbJr 1.(348).] 7-7-7-7 | 40.3 5 ;1_715; ﬁggé 1)
L:xATrp o R=L B:xFT1T47> ESEkae]
o == BEIIRE : -11-11- - WSEE (ROHE)
slgli|/s—771>5> 4 3 e (73?:)2 11-11-11-10 40.0 8 :_313) e
R:TrrerX B:AVUETTIATY FH XF
g B3 | BmHER 1:38.8 9-9-9-11 |40.6| — 10 | 428 |/JuERK (#EF)
9|79 | F—7LR 56.0 3) -3) T
RHhTIRSA4T BTFE FUFL TP — L
3 EEayiEa] :39. —8-8- . — IR EsfE (1)
10 3 JyF—<1l) 4 3 o (11319/21) 8-8-8-8 | 41.1 1 (3_981) Sl
R:FHYTTIRE BiA Ry —H BEZ %Y K
s 4 3 | EEER 1:40.9 3-3-4-4 | 44.4| — 9 465 | KEHEE (818
111 |HyY7E-L 5.0 © 0 | B Nicks
x4 avR—-5— B:NFO-X EANILBS S
= 3 | maz _ - I N )
w56\ 7T 17 * 4510 (m3H) Oy | EREE
Lo A Lk— L BiALINERR R
@ 1—F—@&BIEf
13=7r= 2,4,1,5,12,10,7,3,9,8,11
23—+ — 2,4,1,5,12,10,7,3,9,8,11
3a—+— 2,4,5,1,10,12,7,3,9,8,11
41—+ — 2,4,5,1,10,12,7,3,8,11,9
[ RN
B OB 2 1,110 714K 2-12 2,300 e & 2-8 3,090M 3ER 2-4-12 6,290
% B 2 380M 2-4 660M | | # B 2-8 6,000/ | | 3EEE 2-12-4 84,570
12 360M 4-12 670M B E 2-12 8,080
4 140 B H 2-12 15,090H

ARICOVWTRDTEEERROODE. TR LI,




